Plithogenic Logic and Computation

Journal Homepage: sciencesforce.com/plc



Plithogenic Log. Comp. Vol. 2 (2024) 95-106

Paper Type: Original Article

SCIENCES FORCE

On K-idempotent Neutrosophic Fuzzy Matrices

Mamoni Dhar ^{1,*} 问

¹ Department of Mathematics, Science College, Kokrajhar, Assam, India. Emails: mamonidhar@rediffmail.com; mamonidhar@gmail.com.

Received: 12 Sep 2024

Revised: 25 Sep 2024

Accepted: 16 Oct 2024

Published: 19 Oct 2024

Abstract

The main intention of this paper is to introduce and study the concepts of idempotent neutrosophic fuzzy matrices and k-idempotent neutrosophic fuzzy matrices. Here the concepts of idempotent neutrosophic fuzzy matrices and k-idempotent neutrosophic fuzzy matrices are discussed in details as a generalization of idempotent fuzzy matrix and k-idempotent fuzzy matrix.

Keywords: Fuzzy Matrix; Idempotent Fuzzy Matrix; Neutrosophic Fuzzy Matrix; Idempotent Neutrosophic.

1 | Introduction

In matrix theory, there are many special types of matrices and one of these matrices is called the idempotent matrix which plays a very important role in functional analysis especially spectral theory of transformation and projections. Idempotent matrices are associated with the theory of generalized inverses. The term idempotent is a matrix that when multiplied by itself does not change. Generalizing the concept of idempotent matrices via permutations, k-idempotent matrices were introduced.

The neutrosophic set theory introduced by Smarandache [1] in which each element has associated defining functions, namely the membership function (T), the non-membership function (F), and the indeterminacy function (I) defined on the universe of discourse X and the three functions are completely independent. Neutrosophic sets provide a more reasonable mathematical framework to deal with indeterminate and inconsistent information. Many uncertain situations can be handled easily by the theory of neutrosophic sets. Dhar al el. [3] defined neutrosophic fuzzy matrices and defined some operations and properties. Further study was made by Das et al. [4] as an extension of [3]. The theory has been applied successfully in various fields by many researchers as can be seen from the references [2-7].

Lee et al. [9] have discussed the concept of idempotent fuzzy matrices. The k-idempotent matrix was the concept of Krishnamoorthy et al. [10] as a generalization of idempotent matrices.

In this article, the idempotent neutrosophic matrix and k-idempotent neutrosophic fuzzy matrix are defined [11, 12]. Moreover, some properties of newly introduced k-idempotent neutrosophic fuzzy matrices are discussed and some numerical examples are provided to make the concept clear and it can be found that the characterizations obtained are analogous to those of idempotent matrices.



Corresponding Author: mamonidhar@gmail.com

https://doi.org/10.61356/j.plc.2024.2406

Licensee **Plithogenic Logic and Computation**. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0).

2 | Materials and Methods

This section mainly focuses on some definitions of fuzzy matrix, neutrosophic set, neutrosophic fuzzy matrix etc which are necessary for the subsequent sections.

Definition 2.1: Permutation matrix

A square matrix is said to be a permutation matrix if every row and every column contains exactly one 1 and all other entries are zero.

Definition 2.2: Idempotent fuzzy matrix

A fuzzy matrix $A = \begin{bmatrix} a_{ij} \end{bmatrix}$ is said to be idempotent fuzzy matrix when $A^2 = A$

Definition 2.3: Fuzzy matrix

$$A = \begin{bmatrix} a_{11} & a_{12} & \dots & a_{1n} \\ a_{21} & a_{22} & \dots & a_{2n} \\ \vdots & \vdots & \vdots & \vdots \end{bmatrix}$$

Let A be an mXn matrix defined by $\begin{bmatrix} a_{m1} & a_{m2} & \dots & a_{mn} \end{bmatrix}$ is said to be a fuzzy matrix if and only if $a_{ij} \in [0,1]$ for $1 \le i \le m, 1 \le j \le n$.

Definition 2.4: k-Idempotent fuzzy matrix(Gilchrist[8])

$$\mathbf{A} = \begin{bmatrix} a_{11} & a_{12} & \dots & a_{1n} \\ a_{21} & a_{22} & \dots & a_{2n} \\ \vdots & \vdots & \vdots & \vdots \end{bmatrix}$$

A fuzzy matrix $\begin{bmatrix} a_{n1} & a_{n2} & \dots & a_{nn} \end{bmatrix}$ is said to be k-idempotent if with respect to fuzzy operative, $KA^2K = A$,

$$K = \begin{vmatrix} 0 & 0 & \dots & 1 \\ 0 & 0 & 1 & 0 \\ \vdots & \vdots & \vdots & \vdots \\ 1 & 0 & \dots & 0 \end{vmatrix}$$

where

Definition 2.5: Neutrosophic set

Let the universe of discourse be X. Then the neutrosophic set A is an object having the form $A = \{< x: T_A(x), I_A(x), F_A(x) >, x \in X\}$, where functions $T, I, F: X \to]^{-0,1^+}[$, define respectively the degree of membership (T), the degree of indeterminacy (I), and the degree of nonmembership (F) of the element $x \in X$ to the set A with the condition $0 \le T_A(x) + I_A(x) + F_A(x) \le 3^+$.

Philosophically, the neutrosophic set takes the value from a real standard or non-standard subset of $]^{0,1^+[}$. For technical applications, instead of $]^{0,1^+[}$ the is to be considered for better applications interval [0,1].

Definition 2.6: Neutrosophic fuzzy matrix

The entries of the neutrosophic fuzzy matrix will take the form a+Ib(fuzzy number), where a, b are elements on [0,1] and I is an indeterminant such that $I^n = I$, n is a positive integer. For example

$$A = \begin{bmatrix} a_{11} + Ib_{11} & a_{12} + Ib_{12} \\ a_{21} + Ib_{21} & a_{22} + Ib_{22} \end{bmatrix}$$

Is a neutrosophic fuzzy matrix.

Definition 2.7: Square Neutrosophic Fuzzy Matrix

A neutrosophic fuzzy matrix is said to be square neutrosophic fuzzy matrix when the number of rows is equal to the number of columns.

Definition 2.8: Neutrosophic Identity matrix

A square neutrosophic fuzzy matrix is said to be an identity neutrosophic fuzzy matrix when the diagonal elements are of the form 1+11 and others are of the form 0+10.

For example

$$I = \begin{bmatrix} 1+I1 & 0+I0\\ 0+I0 & 1+I1 \end{bmatrix}, \begin{bmatrix} 1+I1 & 0+I0 & 0+I0\\ 0+I0 & 1+I1 & 0+I0\\ 0+I0 & 0+I0 & 1+I1 \end{bmatrix}$$

are neutrosophic identity matrices of order 2 and 3

respectively.

3 | Operations on Neutrosophic Matrices

This section deals with some operations on neutrosophic fuzzy matrices.

3.1 | Sum of Two Neutrosophic Fuzzy Matrices

Let

$$A = \begin{bmatrix} a_{11} + Ib_{11} & a_{12} + Ib_{12} \\ a_{21} + Ib_{21} & a_{22} + Ib_{22} \end{bmatrix} \& B = \begin{bmatrix} c_{11} + Id_{11} & c_{12} + Id_{12} \\ c_{21} + Id_{21} & c_{22} + Id_{22} \end{bmatrix}$$

be two neutrosophic fuzzy matrices.

The sum of two neutrosophic fuzzy matrices is defined when the number of rows and the number of columns of both matrices are the same.

 $A + B = \begin{bmatrix} C_{ij} \end{bmatrix}$

Where

$$C_{11} = \max(a_{11}, c_{11}) + \operatorname{Im} ax(b_{11}, d_{11})$$

$$C_{12} = \max(a_{12}, c_{12}) + \operatorname{Im} ax(b_{12}, d_{12})$$

 $C_{21} = \max(a_{21}, c_{21}) + \operatorname{Im} ax(b_{21}, d_{21})$

$$C_{22} = \max(a_{22}, c_{22}) + \operatorname{Im} ax(b_{22}, d_{22})$$

3.2 | Multiplication of Two Neutrosophic Matrices

The multiplication operations of two neutrosophic fuzzy matrices are defined when the number of columns of the first matrix is equal to the number of rows of the second matrix. Let us consider the two neutrosophic fuzzy matrices $A = [a_{ij} + Ib_{ij}], B = [c_{ij} + Id_{ij}]$

Then

 $AB = [\max\min(a_{ij}, c_{ji}) + \operatorname{Im} ax\min(b_{ij}, d_{ji})]$

Let

 $AB = [D_{ij}]$

Where

 $D_{11} = [\max\{\min(a_{11}, c_{11}), \min(a_{12}, c_{21})\} + \max\{\min(b_{11}, d_{11}), \min(b_{12}, d_{21})\}]$

 $D_{12} = [\max\{\min(a_{11}, c_{12}), \min(a_{12}, c_{22})\} + \max\{\min(b_{11}, d_{11}), \min(b_{12}, d_{22})\}]$

 $D_{22} = [\max\{\min(a_{21}, c_{12}), \min(a_{12}, c_{22})\} + \max\{\min(b_{21}, d_{12}), \min(b_{22}, d_{22})\}]$

4 | Results

In this section, some new concepts of neutrosophic fuzzy matrices are introduced.

Definition 4.1: Idempotent neutrosophic fuzzy matrix.

A square neutrosophic fuzzy matrix $A = \lfloor a_{ij} + Ib_{ij} \rfloor$ is said to be an idempotent neutrosophic fuzzy matrix when $A^2 = A$.

Proposition: If a neutrosophic fuzzy matrix A is idempotent then $A^n = A$.

Proof: Since A is an idempotent neutrosophic fuzzy matrix then

 $A^2 = A$

Pre-multiplying by A, it is seen that

 $A^2 = A$

 $A.A^{2} = A.A$ $\Rightarrow A^{3} = A^{2} = A$

Similarly, it can be shown that $A^n = A$.

Definition 4.2: Permutation neutrosophic matrix.

A permutation matrix is obtained by repeated interchanging the rows and columns of an identity matrix. Proceeding in the same way, permutation neutrosophic matrix can also be defined. A nXn neutrosophic matrix K is a permutation neutrosophic matrix if and only if it can be obtained from the nXn identity neutrosophic matrix I by performing one or more interchanges of the rows and columns of I.

Some examples

 $\begin{bmatrix} 0+I0 & 1+I1 \\ 1+I1 & 0+I0 \end{bmatrix}, \begin{bmatrix} 0+I0 & 0+I0 & 1+I1 \\ 0+I0 & 1+I1 & 0+I0 \\ 1+I1 & 0+I0 & 0+I0 \end{bmatrix}$

are neutrosophic matrices of order 2 and order 3 respectively.

Remark 1: The product of permutation matrix k is a neutrosophic identity matrix.

Proposition: If A is a k-idempotent neutrosophic matrix and K is a permutation neutrosophic matrix which is conformable for multiplication then AK=KA.

Example: Let us consider a 2X2 idempotent neutrosophic matrix.

$$A = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 \\ 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}$$

And

$$K = \begin{bmatrix} 0 + I0 & 1 + I1 \\ 1 + I1 & 0 + I0 \end{bmatrix}$$

Then

$$AK = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 \\ 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix} \begin{bmatrix} 0 + I0 & 1 + I1 \\ 1 + I1 & 0 + I0 \end{bmatrix}$$
$$= \begin{bmatrix} \max(0, 0.2) + \operatorname{Im} ax(0, 0.3) & \max(0, 0.4) + \operatorname{Im} ax(0, 0.5) \\ \max(0.4, 0) + \operatorname{Im} ax(0.5, 0) & \max(0.2, 0) + I \max(0.3, 0) \end{bmatrix}$$
$$= \begin{bmatrix} 0.2 + I0.3 & 0.4 + I0.5 \\ 0.4 + I0.5 & 0.2 + I0.3 \end{bmatrix}$$

Similarly

$$KA = \begin{bmatrix} 0.2 + I0.3 & 0.4 + I0.5 \\ 0.4 + I0.5 & 0.2 + I0.3 \end{bmatrix}$$

Hence AK=KA.

That is

$$k^{2} = \begin{bmatrix} 0 + I0 & 0 + I0 & 1 + I1 \\ 0 + I0 & 1 + I1 & 0 + I0 \\ 1 + I1 & 0 + I0 & 0 + I0 \end{bmatrix} \begin{bmatrix} 0 + I0 & 0 + I0 & 1 + I1 \\ 0 + I0 & 1 + I1 & 0 + I0 \\ 1 + I1 & 0 + I0 & 0 + I0 \end{bmatrix} = I$$
$$= \begin{bmatrix} 0 + I0 & 0 + I0 & 1 + I1 \\ 0 + I0 & 1 + I1 & 0 + I0 \\ 1 + I1 & 0 + I0 & 0 + I0 \end{bmatrix} = I$$

The identity matrix.

Let us consider a 3X3 idempotent matrix A of the form

$$A = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 & 0.2 + I0.4 \\ 0.2 + I0.3 & 0.4 + I0.3 & 0.2 + I0.3 \\ 0.2 + I0.4 & 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}$$
$$A^{2} = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 & 0.2 + I0.4 \\ 0.2 + I0.3 & 0.4 + I0.3 & 0.2 + I0.3 \\ 0.2 + I0.4 & 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}$$
$$A^{2}k = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 & 0.2 + I0.4 \\ 0.2 + I0.3 & 0.4 + I0.3 & 0.2 + I0.3 \\ 0.2 + I0.4 & 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix} \begin{bmatrix} 0 + I0 & 0 + I0 & 1 + I1 \\ 0 + I0 & 1 + I1 & 0 + I0 \\ 1 + I1 & 0 + I0 & 0 + I0 \end{bmatrix}$$
$$A^{2}k = \begin{bmatrix} x_{11} & x_{12} & x_{13} \\ x_{21} & x_{22} & x_{23} \\ x_{31} & x_{32} & x_{33} \end{bmatrix}$$

Where

 $x_{11} = \max(0, 0, 0.2) + \operatorname{Im} ax(0, 0, 0.4)$ $= 0.2 + \operatorname{IO.4}$

```
x_{12} = \max(0, 0.2, 0) + \operatorname{Im} ax(0, 0.3, 0)
=0.2+I0.3
x_{13} = \max(0.4, 0, 0) + \operatorname{Im} ax(0.5, 0, 0)
=0.4+I0.5
x_{21} = \max(0, 0, 0.2) + \operatorname{Im} ax(0, 0, 0.3)
=0.2+I0.3
x_{22} = \max(0, 0.4, 0) + \operatorname{Im} ax(0, 0.3, 0)
=0.4+I0.3
x_{23} = \max(0.2, 0, 0) + \operatorname{Im} ax(0.3, 0, 0)
=0.2+I0.3
x_{31} = \max(0, 0, 0.4) + \operatorname{Im} ax(0, 0, 0.5)
=0.4+I0.5
x_{32} = \max(0, 0.2, 0) + \operatorname{Im} ax(0, 0.3, 0)
=0.2+I0.3
x_{33} = \max(0.2, 0, 0) + \operatorname{Im} ax(0.4, 0, 0)
=0.2+I0.4
```

Therefore

$$A^{2}k = \begin{bmatrix} 0.2 + I0.4 & 0.2 + I0.3 & 0.4 + I0.5 \\ 0.2 + I0.3 & 0.4 + I0.3 & 0.2 + I0.3 \\ 0.4 + I0.5 & 0.2 + I0.3 & 0.2 + I0.4 \end{bmatrix}$$

Then

$$kA^{2}k = \begin{bmatrix} 0+I0 & 0+I0 & 1+I1 \\ 0+I0 & 1+I1 & 0+I0 \\ 1+I1 & 0+I0 & 0+I0 \end{bmatrix} \begin{bmatrix} 0.2+I0.4 & 0.2+I0.3 & 0.4+I0.5 \\ 0.2+I0.3 & 0.4+I0.3 & 0.2+I0.3 \\ 0.4+I0.5 & 0.2+I0.3 & 0.2+I0.4 \end{bmatrix}$$

Hence it can be said that matrix A is **a**k-idempotent matrix.

Theorem: Characterization of a 2X2 K-idempotent neutrosophic matrix).

$$A = \begin{bmatrix} a_{11} + Ib_{11} & a_{12} + Ib_{12} \\ a_{21} + Ib_{21} & a_{22} + Ib_{22} \end{bmatrix}$$

Let

Be a 2X2 K-idempotent neutrosophic matrix. Then

 $a_{11} = a_{22}$ $a_{21} = a_{12}$ $b_{11} = b_{22}$ $b_{12} = b_{21}$

Proof: Let

$$A = \begin{bmatrix} a_{11} + Ib_{11} & a_{12} + Ib_{12} \\ a_{21} + Ib_{21} & a_{22} + Ib_{22} \end{bmatrix}$$

Then

$$A^{2} = \begin{bmatrix} a_{11} + Ib_{11} & a_{12} + Ib_{12} \\ a_{21} + Ib_{21} & a_{22} + Ib_{22} \end{bmatrix} \begin{bmatrix} a_{11} + Ib_{11} & a_{12} + Ib_{12} \\ a_{21} + Ib_{21} & a_{22} + Ib_{22} \end{bmatrix}$$
$$= \begin{bmatrix} x_{11} + Iy_{11} & x_{12} + Iy_{12} \\ x_{21} + Iy_{21} & x_{22} + Iy_{22} \end{bmatrix}$$

Where

$$x_{11} = \max\{\min(a_{11}, a_{11}), \min(a_{12}, a_{21})\} + I \max\{\min(b_{11}, b_{11}), \min(b_{12}, b_{21})\}$$

$$x_{12} = \max\{\min(a_{11}, a_{12}), \min(a_{12}, a_{22})\} + I \max\{\min(b_{11}, b_{12}), \min(b_{12}, b_{22})\}$$

$$x_{21} = \max\{\min(a_{21}, a_{11}), \min(a_{22}, a_{21})\} + I \max\{\min(b_{21}, b_{11}), \min(b_{22}, b_{21})\}$$

$$x_{22} = \max\{\min(a_{21}, a_{12}), \min(a_{22}, a_{22})\} + I\max\{\min(b_{21}, b_{12}), \min(b_{22}, b_{22})\}$$

$$KA^{2} = \begin{bmatrix} 0 + I0 & 1 + I1 \\ 1 + I1 & 0 + I0 \end{bmatrix} \begin{bmatrix} x_{11} + Iy_{11} & x_{12} + Iy_{12} \\ x_{21} + Iy_{21} & x_{22} + Iy_{22} \end{bmatrix}$$
$$= \begin{bmatrix} C_{11} + ID_{11} & C_{12} + ID_{12} \\ C_{21} + ID_{21} & C_{22} + ID_{22} \end{bmatrix}$$

 $C_{11} = \max\{\min(0, x_{11}), \min(1, x_{21})\} + I \max\{\min(0, y_{11}), \min(1, y_{21})\}$

- $C_{12} = \max\{\min(0, x_{12}), \min(1, x_{22})\} + I \max\{\min(0, y_{12}), \min(1, y_{22})\}$
- $C_{21} = \max\{\min(1, x_{11}), \min(0, x_{21})\} + I \max\{\min(1, y_{11}), \min(0, y_{21})\}$
- $C_{22} = \max\{\min(1, x_{12}), \min(0, x_{22})\} + I \max\{\min(1, y_{12}), \min(0, y_{22})\}$

$$KA^{2}K = \begin{bmatrix} C_{11} + ID_{11} & C_{12} + ID_{12} \\ C_{21} + ID_{21} & C_{22} + ID_{22} \end{bmatrix} \begin{bmatrix} 0 + I0 & 1 + I1 \\ 1 + I1 & 0 + I0 \end{bmatrix}$$
$$= \begin{bmatrix} E_{11} + IF_{11} & E_{12} + IF_{12} \\ E_{21} + IF_{21} & E_{22} + IF_{22} \end{bmatrix}$$

Where

$$E_{11} = \max\{\min(0, C_{11}), \min(1, C_{12})\} + I \max\{\min(0, D_{11}), \min(1, D_{12})\}$$

 $= \max(0, C_{12}) + I \max(0, D_{12})$

$$= C_{12} + ID_{12}$$

 $= \max\{\min(0, x_{12}), \min(1, x_{22})\} + I \max\{\min(0, y_{12}), \min(1, y_{22})\}$

 $= \max(0, x_{22}) + I \max(0, y_{22})$

 $= x_{22} + Iy_{22}$

 $= \max\{\min(a_{21}, a_{12}), \min(a_{22}, a_{22})\} + I \max\{\min(b_{21}, b_{12}), \min(b_{22}, b_{22})\}$

 $= \max\{\min(a_{21}, a_{12}), a_{22})\} + I \max\{\min(b_{21}, b_{12}), b_{22})\}$

Since A is k-idempotent then

$$KA^2K = A$$

and hence the following

$$E_{11} + IF_{11} = a_{11} + Ib_{11}$$
, $E_{12} + IF_{12} = a_{12} + Ib_{12}$, $E_{21} + IF_{21} = a_{21} + Ib_{21}$ and $E_{22} + IF_{22} = a_{22} + Ib_{22}$

From the above results

 $a_{11} + Ib_{11} = \max\{\min(a_{21}, a_{12}), a_{22})\} + I\max\{\min(b_{21}, b_{12}), b_{22})\}$

Then

 $a_{11} \ge a_{22}, b_{11} \ge b_{22}$

$$\begin{split} E_{22} &= \max\{\min(1, C_{21}), \min(0, C_{22})\} + I \max\{\min(1, D_{21}), \min(0, D_{22})\} \\ &= C_{21} + ID_{21} \\ &= x_{11} + Iy_{11} \end{split}$$

 $= \max\{\min(a_{11}, a_{11}), \min(a_{12}, a_{21})\} + I \max\{\min(b_{11}, b_{11}), \min(b_{12}, b_{21})\} \\ = \max\{(a_{11}, \min(a_{12}, a_{21}))\} + I \max\{(b_{11}, \min(b_{12}, b_{21}))\}$

Since

 $E_{22} + IF_{22} = a_{22} + Ib_{22}$

Then

 $\begin{aligned} \max\{(a_{11},\min(a_{12},a_{21}))\} + I\max\{(b_{11},\min(b_{12},b_{21}))\} &= a_{22} + Ib_{22} \\ \Rightarrow \max\{(a_{11},\min(a_{12},a_{21}))\} &= a_{22} \& \max\{(b_{11},\min(b_{12},b_{21}))\} &= b_{22} \\ \Rightarrow a_{22} \ge a_{11} \& b_{22} \ge b_{11} \end{aligned}$

From the above two results it is obtained that

 $a_{11} = a_{22}, b_{11} = b_{22}$

Similarly

 $= x_{21} + Iy_{21}$

 $E_{12} = \max\{\min(1, C_{11}), \min(0, C_{12})\} + I \max\{\min(1, D_{11}), \min(0, D_{12})\}$

$$=C_{11}+ID_{11}$$

 $= \max\{\min(a_{21}, a_{11}), \min(a_{22}, a_{21})\} + I \max\{\min(b_{21}, b_{11}), \min(b_{22}, b_{21})\}$

Since

 $a_{11} = a_{22} b_{11} = b_{22}$

```
\Rightarrow \max\{\min(a_{21}, a_{11}), \min(a_{22}, a_{21})\} + I \max\{\min(b_{21}, b_{11}), \min(b_{22}, b_{21})\} 
= \max\{\min(a_{21}, a_{22}), \min(a_{22}, a_{21})\} + I \max\{\min(b_{21}, b_{22}), \min(b_{22}, b_{21})\} 
= \min(a_{21}, a_{22}) + I \min(b_{21}, b_{22})
```

Again since

 $E_{12} + IF_{12} = a_{12} + Ib_{12}$

It is seen that

 $\min(a_{21}, a_{22}) + I \min(b_{21}, b_{22}) = a_{12} + Ib_{12}$ $\Rightarrow a_{12} \le a_{21} \& b_{12} \le b_{21}$

$$\begin{split} E_{21} &= \max \{\min(0, C_{21}), \min(1, C_{22})\} + I \max \{\min(0, D_{21}), \min(1, D_{22})\} \\ &= C_{22} + ID_{22} \\ &= x_{12} + Iy_{12} \end{split}$$

 $= \max\{\min(a_{11}, a_{12}), \min(a_{12}, a_{22})\} + I \max\{\min(b_{11}, b_{12}), \min(b_{12}, b_{22})\}$

Since

 $a_{11} = a_{22} b_{11} = b_{22}$

Then

$$E_{21} + ID_{21} = \max\{\min(a_{11}, a_{12}), \min(a_{12}, a_{22})\} + I \max\{\min(b_{11}, b_{12}), \min(b_{12}, b_{22})\}$$

$$\Rightarrow E_{21} + ID_{21} = \max\{\min(a_{11}, a_{12}), \min(a_{12}, a_{11})\} + I \max\{\min(b_{11}, b_{12}), \min(b_{12}, b_{11})\}$$

$$\Rightarrow \min(a_{11}, a_{12}) + I \min(b_{11}, b_{12}) = a_{21} + Ib_{21}$$

$$\Rightarrow a_{21} = \min(a_{11}, a_{12}) \& b_{21} = \min(b_{11}, b_{12})$$

$$\Rightarrow a_{21} \le a_{12} \& b_{21} \le b_{12}$$

From the above two results, it can concluded that

$$a_{21} = a_{12} \& b_{21} = b_{12}$$

Hence the proof.

Proposition: The sum of two k-idempotent matrices is also k-idempotent.

Let us consider two k-idempotent neutrosophic matrices A and B as

$$A = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 \\ 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}, B = \begin{bmatrix} 0.5 + I0.6 & 0.4 + I0.3 \\ 0.4 + I0.3 & 0.5 + I0.6 \end{bmatrix}$$

Then the sum of the above matrices

$$A + B = \begin{bmatrix} 0.5 + I0.6 & 0.4 + I0.3 \\ 0.4 + I0.3 & 0.5 + I0.6 \end{bmatrix}$$

This is again k-idempotent.

Proposition: The subtraction of two k-idempotent matrices is also k-idempotent.

Let us consider two k-idempotent matrices A and B as

$$A = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 \\ 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}, B = \begin{bmatrix} 0.5 + I0.6 & 0.4 + I0.3 \\ 0.4 + I0.3 & 0.5 + I0.6 \end{bmatrix}$$

Then the sum of the above matrices

$$A - B = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 \\ 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}$$

This is again k-idempotent.

Proposition : The transpose of A k-idempotent matrix is k-idempotent.

Let us consider a k-idempotent matrix A as

 $A = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 & 0.2 + I0.4 \\ 0.2 + I0.3 & 0.4 + I0.3 & 0.2 + I0.3 \\ 0.2 + I0.4 & 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}$

The transpose of the above matrix is

 $A^{T} = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 & 0.2 + I0.4 \\ 0.2 + I0.3 & 0.4 + I0.3 & 0.2 + I0.3 \\ 0.2 + I0.4 & 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}$

Here

 $A = A^T$

Since A is k-idempotent then it is obvious that A^{T} is also k-idempotent.

Proposition: Let A and B be two k-idempotent fuzzy matrices. If AB=BA, then AB is also a k-idempotent fuzzy matrix.

If AB=BA then $(AB)^2 = A^2 B^2$

 $k(AB)^2 k = kA^2B^2 k$

$$= kA^2k.kB^2k$$
$$= AB$$

Theorem: If $A_1, A_2, A_3, \dots, A_3$ are k-idempotent then $A_1A_2A_3, \dots, A_3$ is also k-idempotent.

 $k(A_1A_2A_3...A_n)^2 k = k(A_1A_2A_3...A_n.A_1A_2A_3...A_n)k$

 $=k(A_1^2A_2^2A_3^2...A_n^2)k$

 $= kA_1^2k.kA_2^2k.kA_3^2k....kA_n^2k$

 $= A_1 A_2 A_3 \dots A_n$

Hence $A_1A_2A_3...A_n$ is also k-idempotent.

Proposition: An idempotent fuzzy matrix commutes with the associated permutation.

That is if A is an idempotent fuzzy matrix and k is the associated permutation then AK=KA.

Proposition: The complement of a k-idempotent matrix is also k-idempotent.

Let us consider a k-idempotent matrix A as

 $A = \begin{bmatrix} 0.4 + I0.5 & 0.2 + I0.3 & 0.2 + I0.4 \\ 0.2 + I0.3 & 0.4 + I0.3 & 0.2 + I0.3 \\ 0.2 + I0.4 & 0.2 + I0.3 & 0.4 + I0.5 \end{bmatrix}$

Then the complement of the above matrix is

 $A^{c} = \begin{bmatrix} 0.5 + I0.4 & 0.3 + I0.2 & 0.4 + I0.2 \\ 0.3 + I0.2 & 0.3 + I0.4 & 0.3 + I0.2 \\ 0.4 + I0.2 & 0.3 + I0.2 & 0.5 + I0.4 \end{bmatrix}$

Proposition: If A and B are two k-idempotent fuzzy matrices then A(A+B)B commutes with the permutation matrix K.

Proof:

 $A(A+B)B = A^2B + AB^2$

 $= KA^2KB + AKB^2K$

 $= KA^2BK + KAB^2K$

= K(A(A+B)B)K

=K(A(A+B)B)

=(A(A+B)B)K

5 | Conclusion

The main content of the article is to discuss about idempotent and k-idempotent neutrosophic matrices. Some properties associated with these introduced concepts are discussed and supported by some numerical examples. Most of the properties are found to be analogous to the existing properties of idempotent and k-idempotent matrices.

Acknowledgments

The author is grateful to the editorial and reviewers, as well as the correspondent author, who offered assistance in the form of advice, assessment, and checking during the study period.

Funding

This research has no funding source.

Data Availability

The datasets generated during and/or analyzed during the current study are not publicly available due to the privacy-preserving nature of the data but are available from the corresponding author upon reasonable request.

Conflicts of Interest

The authors declare that there is no conflict of interest in the research.

Ethical Approval

This article does not contain any studies with human participants or animals performed by any of the authors.

References

- Smarandache, F. "A Unifying Field in Logics", Neutrosophy: Neutrosophic Probability, Set and Logic, Reboth: American Research Press, 1999.
- [2] Smarandache, F. "Neutrosophy: Neutrosophic Probability, Set and Logic" ProQuest Information & Learning, Ann Arbor, Michigan, USA, 1998,105.
- [3] Dhar, M; Broumi,S. ; Smarandache,F;"A Note on Square Neutrosophic Fuzzy Matrices" Neutrosophic Sets and Systems, 2014, Vol.3, pp-
- [4] Das,R; SmarandacheF.; Tripathy,B.C; Neutrosophic Fuzzy mAtrices and Some Algebraic Operations, , 2020, Vol.32, pp-401-409.
- Kandasamy, W.B.F. and Smarandache, F;" Fuzzy Relational Maps and Neutrosophic Relational Maps", HEXIS Church Rock, 2004, Book, 302 pages.
- [6] Broumi,S; Son,L.H.; Bakai, A; Talea,M; Smarandche,F; Selvachandran,G. Computing Operational Matrices in Neutrosophic Environments: A Matlab Toolbox", Neutrosophic Sets and Systems, 2017, Vol.18, pp-58-66.
- [7] Topal,S; S. Broumi, S; Bakali,A; Talea,M; Smarandache, F;" A Python Tool for implementation on Bipolar Neutrosophic Matrices, Neutrosopic Sets and Systems, Vol. 28, 2019, pp.138-161.
- [8] Gilchrist, C. Some results on Fuzzy Matrices
- Hong Youl Lee, Nae Gyeong Jeong and Se Won Park, The Idempotent Fuzzy matrices, Honam Mathematical Journal, 2004,26,, pp:3-15
- [10] Krishnamoorthy. S; Rajagopalan. T; Viaykumar. R. On k-idempotent matrices, Jour. Anal, Comput; 2008, vol.4(2), pp-.
- [11] Muthugurupackiam, K and Krishnamohan, K.S., Generalizations of idempotent fuzzy matrices, International Journal of Applied Engineering Research13(13),2018, 11087-11090.
- [12] Kim, J.B; Idempotents and Inverses in Fuzzy Matrices, Malasian Math.6(2), 1983, 57-61.

Disclaimer/Publisher's Note: The perspectives, opinions, and data shared in all publications are the sole responsibility of the individual authors and contributors, and do not necessarily reflect the views of Sciences Force or the editorial team. Sciences Force and the editorial team disclaim any liability for potential harm to individuals or property resulting from the ideas, methods, instructions, or products referenced in the content.